
P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

https://chingatome.fr

http://creativecommons.org/licenses/by-nc/4.0/


P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

https://chingatome.fr

http://creativecommons.org/licenses/by-nc/4.0/


P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,5)

0 25 50 75 100

0.05

https://chingatome.fr

http://creativecommons.org/licenses/by-nc/4.0/


P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

P
(

X=k
)

k

X∼B(100; 0,6)

0 25 50 75 100

0.05

https://chingatome.fr

http://creativecommons.org/licenses/by-nc/4.0/

